py3.6+torch1.7.1+cul 10+RTX3090

SGR:

Train:

Loss
55

35

k 25k 30k

B )5 — epoch, val iR 45 H

I2T: 733 923 96.8
T2i: 538 771 829
Test:
I2T: 749 928 959
T2I: 540 789 852
RSUM:481.7
SAF:
Train:
Loss
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r_sum

)5 —> epoch, val M4k R :

I2T: 71.0 92.1

T21:52.2 78.3

Test:

I2T: 71.3  92.8

T2I: 53.1 79.2

RSUM:478.4
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py2.7+torch0.4.1+cul0.0+TITAN X pascal
SAF:
train:

Loss r_sum

2T: 747 942 97.6

T2i: 562 809 87.1

test:
I2T: 744 93.8 969
T2I: 56.3 81.7 88.1

RSUM: 491.2

SGR:JIT 5 E R AFHIE 12g, H 3090 ASCHRHIKT cudall higAs, FrbAJGiEE Bl 2.



VEE AT IEHEEMEROKER, T EHMEE B NS HESDA R T PsotazkH

py3.6+torch1.7.1+cu110+RTX3090

= SGR:
= 26738 911 957
» 1211528 766 829
= rsum: 4729

= SAF:
m 26722 916 954
» 120513 775 848

= rsum: 4729

py2.7/+torch0.4.1+cu10.0+TITAN X pascal

= SGR:
» 2t:766 937 966
« {21:56.1 809 870
= rsum: 491
SAF:
= 26756 927
» {21:565 82.0

= rsum: 492 1
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